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Plot EC/PH from runoff
1e6

—&— FVIECT_Ex10%

FVOEC1_E2
&>
D
D [ C Z
T T T T T T T
10.6 10.8 11.0 11.2 11.4 11.6 11.8
day

—O— FVIPH1_E*10%
FVOPH1_E2

10. 6 10. 8 11.0 11.2 11.4 11.6 11.8
day




450

400

350

300

250

200

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

75

70

65

60

55

50

45

40

1000

800

600

400

200

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]

lopt

[

I

ﬁ{ﬂﬂ\v Y V/\Vi\
| U
o TN .
| w/ﬂ\/ \& v\"\/\’\v‘
A ~ SN\
—— ——— AN
/J \ M
l RYava
[
O\, -
AV
— [\
\ .
\
\ )
VA
NSy S
. /v/\//ﬁ\/f\/\,\ v .M.
% U\
- Y
M ’
s
| M\ —— LAI]
s .
5 / N
; / \,
; N\
I \\h\\h“¥\.
,_/; .
pN Wl Ay [V
V L!\v/\’\ /*)
[V




250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

setVI_ETcl
setVIl_fgRec
setVIl_VN
s|SetVI

XX

25



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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